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[A] ROEXEHAREBICELGZE S,
(1) Sooner or later you will find a good solution.

0

(2) As many as fifty thousand birds spend the winter here.
2

(3) Call the doctor as soon as possible!

3

(4) It will take at the most ten minutes to get there.

(4

(5) The drama was not so much a tragedy as a comedy.

6))

[B] ROBARBEEBICELAE LY,
6 ~2 ) —F D7 T AT2ERBAICEDEHWFEETT,
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(7

®) T x b CEERBETT, ®

9) #O/NE72THIT, RETHLIDBIZ30E80OHE UNEETE /A,
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(10) #H1XF DI H LT, FLIZ3,000[ Lvka > T e o 7=,
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[C] BREDEKRICES LT, EALGNEEAELANAT, RXETREIERE,

(D) #4132 Z OBIHTHIEC 5 FVEHFETT,
He (best /is/ by far / actor / the ) in this theater company.

(11)

12) Zhikey FrTho b b VWHE T,
This is ( the / London / church / in / oldest ).

(12

(13) ARV FA—A TV T C2EAICKE 2T TT,
Melbourne is (in / largest / the / city / second ) Australia.

(13)

[D] ROFEDLLERMR - ZFEBREZESH LY,

(14) well (14)
[E] ROXZEBARFEICELGSL,

(15) She wanted to receive a higher education.

(15)
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) BrnErh, LWRREN R X, [Part 3-3 ez A\ - S S E2%8 (2) (Targetfi|x0) |
@bHPL DN = TEAEMT, [Part 3-1 JFi#ka FV- S & E/4KH (Targetffl S0 |

B) TEXHFETRELLEEEZTATIN ! [Part 2-2  JFfkZ2 - 7=l (Targetfs]s2) |

(@) ZZ I ET, BOEWI0G LA biRnEs S, [Part 35 e bk V7 S & EAKH (Targeti|s0) |
(B) ZD KT~ 3B E VD L viE, BLAEBITL, [Part3-1 Jifkax AV o & £ &E 2R 8L (Target#|30) |

(6) Henry is the second tallest student in this class. [Part 2-4 §& F#k % f# - 7= bk (Targetfil =0) ]

(7) There were not more than twenty people in the theater. [Part 3-4 no% ffi - 7~ bbikZR . (Targetfs| ) |

(8) He is as honest as any man I know. [Part 3-1 Jfifk% A\ 2 & £ &£ 722 KB (Target]50) |

(9) The small factory can produce 30 cars a month at (the) best. [Part 3-5 #x bz AV 7z & & &k 742EH (Targetfs
3]

(10) He paid me no more than 3,000 yen for the work. [Part 3-4 no% fifi - 7= bt (Targetffil30) |
(11) He is by far the best actor in this theater company. [Part 2-4 f Ef#k% {# > 7= bl (Check[58) |
(12) This is the oldest church in London . [Part 2-4  f L#k % f# - 7- b (CheckRi) ]

(13) Melbourne is the second largest city in Australia. [Part 2-4 & Efk% - 7= bl (Check[#E) 1
(14) better, best [Part 2-1 JFUflk « Hele#k - fx bk (CheckRiEH) |

(15) Wl IT A S #E 2 Z T =8> Tz, [Part 3-3 bk a V- & £ &% 742 %8 (2) (CheckfE) ]



